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1001.cpp
1 #include<stdic
2 #include<string.h>
3 int main()
48 {
5 int a,b,¢,n,i=0,j=0,count;
6 char sStr[l00];
7 scanf ("%d %d4d", &a, &b) ;
8 c=a+b;
9 sprintt{str,"sd” .c).3
10 count=strlen(str) ;
11 ifncount>3n
12 for (i=count-1, j=0;i>=0, j<count;i--, j++)
1361 {
14 if((i+1)%3==0) printf(","):;
15 printf{"se”,stxrlil);
16 | }
157/ else
18 printf("sd",c) ;
19 return 0O;
20 =}
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if ((i+1) %$3==0&&7j'=0) printf(",") ;
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else

if (count>4)
for (i=count-1,j=0:1>=0,1<count;i--, ++)

F:-_nt-f { L] ; rl} -
print
else

printi("%4d" ,sum)

1f (sum>=0)
{

if (count>3)

for(i=count-1 ;i>=0,j<count ;i—--—,j++)
i

if((i+1)%3=0&&7'=0) princf(","):
princf({"%c" ,stxr[i]):

}

else

princf ("%d4d" ,sum) ;

if (count>4)

for(i=count-1 0,j<count:;i--,j++)
{

1E((i+1)%3=0&4&7!'=0) printf(","):
printf ("sc”,scr[i]):

}

else
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0 e 4 256 0/9
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10 e ] 4 256 1/1

11 Z=iFiE 4 256 11

2 ZxiFE 2 256 1/1

3 =xiFE 5 256 1/1

4 ExiFR 4 256 1/1

5 ==iFe ) 256 1/1

6 el 2 256 1/1

7 ExiFe 4 256 1/1

8 E=ife 2 256 1/1

9 ExifE 4 256 1/1
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z =EiR 6 256 1/1
3 =E=TE 3 384 1/1
4 ==itE 4 128 1/1
< EZIFR 6 384 /1
5] =xiFRE 6 384 /1
7 =E=iTE 3 256 1/1
2 E=itE 6 384 1/1
9 EZIFR 3 256 /1
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o RIEH, mHmAAH:
#include<stdio.h>
#include<string.h>
#include<math.h>
int main()
{
int a,b,sum,n,i=0,7j=0,count;
char str[100];
scanf("%d %d",&a,&b);
sum=a+b;
sprintf(str,"%d",sum);
count=strlen(str);
if(sum>=0)
{
if(count>3)
for(i=count-1,j=0;i>=0,j<count;i--,j++)
{
if((i+1)%3==08&]j!=0) printf(",");
printf("%c",str[j]);
}
else
printf("%d",sum);
}
else
{
if(count>4)
for(i=count-1,j=0;i>=0,j<count;i--,j++)
{

if((i+1)%3==08&j!=1) printf(",");
printf("%c",str[j]);
}

else



printf("%d",sum);

return 0;
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